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Instructions to the Examinee :

1.

2.

Do not open the booklet unless you are asked
to do so.

The booklet contains 35 questions.
Examinee is required to answer all questions
in the OMR Answer-Sheet provided and not
in the question Booklet. Each question carry

2 marks. There is no negative marking.

Examine the Booklet and the OMR Answer-
Sheet very carefully before you proceed.
Faulty question Booklet due to missing or
duplicate pages / question or having any
other discrepancy should be immediately
replaced.

(Remaining instructions on last page)
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A

b o

Statement 1: The output quality of printer is

measured in Hz.

Statement 2: Debit cards and Credit cards can

be used in electronic payment system.

Choose the appropriate option from the

following:

A. Statement 1 is correct and statement 2 is
incorrect

B. Statement 1 is incorrect and statement 2 is
correct

C. Both statement 1 and statement 2 are

incorrect
D. Both statement | and statement 2 are
correct

/a'rﬁ‘om ﬁaﬁmmmﬁwrﬂﬂ? 2

qheT 2: TR A Jomedt Tt 3 2 efaz #:1E afit
SHTST TS 1 AN T 1 Fetl 21

foer & 37 farehed 4

A. SFeT | HET & 3 aehey 2 T @

B. ged | TTeid & IR awheq 2 BET ©

C. 3FT awhed | 3N Ithed 2 TTeid &

D o | 3 ahed 2 Wl &

Windows 10 has built in real time antivirus, its _x faew 10 # T diee (buﬂt m) {9t 2139 (real

name is

A. Cortana

B. Microsoft edge

C. Microsoft Media Player
D. Windows Defender

Which of the following are the examples of
Hardware in Computer System?

A. Input and Output Devices

B. MS-Word 2010 and MS-Excel 2010.

C. MS-Paint and Math Tool

D. Google Chrome and Mozilla Firefox
Suppose there are six sectors like agriculture,
construction, manufacturing, mining etc. which
contributes to the GDP of India, then which

type of chart is most suitable to show the
contribution of each sector to the whole GDP

of India in MS Excel 2010.

A. Line B. Area

C. XY Scatter D. Pie
computer generation uses ICs

with VLSI technology.

A. First B. Second

C. Third D. Fourth

Which of the following is NOT a characteristic
of MS Access 20107

A. Relational based structure

B. ACID properties

C. Low redundancy

D. Offers a variety of animations.

time) GIERE R SR AH 2l
A, T ( (Cortana) «

B. TTSshIETE UF (edge)+

p-fiee fedet (Defender)

3/ Trafufiga & & =17 & F427 Fm % Fem

TR &Y

W:’:ﬁ‘(mm/

B. THUY-TE 2010 31 THI=- Qarlazmo

C. TUE-Y2 R A9 7
D. Tl iR S AT SR

anﬁ.’a‘rwamaaauiasmﬁm%m% ar
WM’OIOUWWﬁWEﬁEWﬁ
uﬁamawﬁﬁg@%mmmaﬁ
&
A. T (Line) B. TRAT (Area)
C. XY X (Scatter) , B TS (Pic)

<heret it oft et e 31T et &
AT 373 4. T IYINT Bl 2

A TuW B. fyd=
C. dram D~ =g

V@ mﬁﬂﬁqmwmoﬁﬁm

A ﬁéma AR T
B. T .S
C. %0 fegSHt (redundancy) —~

)/D.’f‘t! fafir= T 8% (animations) Y& T 21
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\/ Which of the following has the least network
transmission range?

A. Bluetooth B.
C. Infra-red D.

Wi-Fi
WiMAX

is the network of physical
objects embedded with electronics, software,
sensors and network connectivity which
enable these object to collect and exchange
data over the cloud.

A. IoT B. Big Data
C. LiFi D. Google Glass
What is Trash Email folder?

A. Tt is where your incoming emails are
stored.

\ L

< It 1s where deleted emails are stored.
C. Itis a web based chat service.

D. It is where outgoing emails are temporarily
stored.

In MS Access 2010, user can create a new table
in either view or

view.

A. Design, Datasheet

B. Formula, Print

C. Text, Number

D. Bookmark, Hyperlink

P

=

follomng statements:
Character Printer and Line Prmter are the
examples of Non-Impact Printer.

B. CD-R and DVD are the examples of
Secondary Memory.

C. Joystick is an example of Output Device.

D. All options are correct.

12, If you are using Window 10 with your laptop, /12

you can quickly access the settings like speaker
volume, wireless connection status and display
brightness etc. using:

A. Windows Defender.

B. Windows Sync Center.

C. Windows Mobility Center
D. Windows Firewall

o1 9 & ol Jzareh Zfaf & (range
7 «
W e B. E-WE
C.33h- D. arghe

& N, i s
Yoad FARERE) ¥ 1 TS (embedded) Wi
(_/*\ aﬁraﬁemﬁza%%a‘rsqmazﬁmm%a
| wma
A. 3T 3L, (1oT)~B. {7 221 (Big Data)
C. TS %1 (LiFi)  D. 70T 7 (Google Glass)

/’? 3 (Trash) $iet wieet 1 27
224

“A. T€ 98 S & W8T 9 3T I $ie wue R
a8 Y
I e § e LI 7Y S N 0 T
C. %@aﬁm%aﬂﬁ#

/szaaw%aamﬁammmﬁ
W s (@L7LW
A0 szoloﬁ EeeiucriE k) S §
o T e o T B
Wémﬂz
Bqa‘l'leITﬁ'lE}/
C. ¢, q /.
D. FHuTH, TFRIiF

Select the most appropriate option from the A},{ ﬁm‘ﬁ:{ﬁgﬁmﬁmmﬁmmmaﬁ

A. ﬁmﬁaaﬂraﬁqﬁmﬁt g izt & e
H ok
)Z/tft-s"n - 3 Sefre reafie AR ¥ e
7 C. e (1 ozsnck)m%mwwqaam
2l
\/m(a\ﬁ%maﬁ%l
I AT A AT % WY A 10 T T W@
&, T 79 TR ST, T Frlae Red 3
%ﬁmﬁqsﬂﬁ%ﬁﬁmmmwmé
A. faegm fethen)
B. faerst féh (Sync) dex
gxﬁﬁaﬁﬁ%amobility)ﬁa
D. fie= v
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The capacity of a communication network or | U UER e 41 e S S aHaT Siy S fye

?sgg)?stir‘d::::nnel to.tranbm:t bit per second (bps)ﬁgmAﬂﬁ[m%;
A. Jefag (Bandwidth)
A. Bandwidth = Z »
B. Frequency g, B. ShI=iH! (Frequency)
C. Both option (A) and (B) %fﬁ'a;ﬁﬁ A B
D. None of these o <oy
Which of the following is not an example of _/14’ ﬁﬁﬁﬁﬂﬁ?ﬁMﬁli{{PHﬁ@
software? A. THTE 3E (MS Word)
A. MS Word B. UZISTEH (Antivirus)
B. Antivirus : &C// /c/ﬁﬂ'uscanner)
¢3S D v :
c.anner c 2 © D. e 3rm= (driver)
D. Printer driver

What is the correct example of cell address in / THUE THEE 2010 F 5 UH o1 T8 3aTR0 47 7
MS Excel 2010?

- 3% AC1145AZ A AZ145
A. 1145AZ B,  _ AFIEENC M) - 4 /

C. Al2AZ D. 11AZ12 G AIZAT 2 WAZ12

In control panel (Windows 10), appearance andﬁ et 99 (fazr 10), F9Z7F (appearance) 3

personalization computer setting: q'{fqagé‘m (personahzatmn ) ?caquf-g'rrﬁ

A. Allow user to change the desktop A ST H SERT gg'qﬁ:[ W I e
background to a picture of their choice. T srge it mﬁ ?:"EIT%I o -

B. Allows the user to change or disable the \/ B. STl ﬁmaﬁwm HeH w1 H
screensaver. amﬁr TR

C. Allows the user to change the screen C. Wﬁﬁﬁ T BhiA ﬁsnwm Bﬂ'( ar =it HUERI
resolution and colour quality. SEer T AT 2T 8]

D. All of the above. % mﬁiﬁﬂ‘lﬁl

Which of the following can be considered as e- 1/1,7/ frafafgad g ars naiaﬁamﬁ%mﬂqm

Governance services? T FHAT 27 - ORAEL

A. Driving License : mm

B. Driving a Car B. FR iR

G- BLTy'lTlg Vegetlables C. Tfssai @lier

D. Printing T-Shirt D. 39 fif

Which of the following is used for navigation /Ig'_d ﬁnﬁﬁﬁq#ﬁﬁaﬁ%m@mm%ﬁﬁ

:hatlyoui hi;hon; xia to get i fr:::tl Plalfe = HTYHT I STATCH aTT o ek & HIeqd & S1qh

o place through a wireless provider’s network.

T & TTARE 0t 3 10 39T = e 21
A. GPS
A/ Sfdieg (GPS) B. 3IRUHTEET (RFID)

C. S (Bluetooth)

B
C. Bluetooth !
b D. 3ifteshet BT (Optical Fibre)

. Optical Fibre
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i
./1/ To start slideshow of a presentation:
A. Press F5 key.

B. From slideshow menu choose view show

option.

C. From slideshow menu choose rehearse

timing.
\/B./ Either option (A) or option (B).

SISIETA % TATES T 1 I[E F & o
A-Fsdeft g
"B, A1 I 4§ = 1 ferehes 7 =19 4
C. TAT3e 711 7 & {igd 2130 1 =37 &

W(A)mﬁm(mmwﬁl

Choose the most appropriate option from the ,,/26’ ﬁﬁﬁwﬁwﬁmﬂiz

following:

A. Workbook is consists of multiple
worksheets and charts.

B. Worksheet is consists of multiple
workbooks and charts.

C. Workbooks consists of multiple slides and

charts.

D. Worksheet is consist of various network

topology.

The horizontal lines displayed in plot area of a

chart in MS Excel 2010 is called as
A. Chart title B. Data points
C. Legend D. Gridlines

A o Ui oeheiics St wé e g &

B. Feh¥fie & o ey i =dy e e 8
C. ey | %3 T3S AT 8 2l
D. Fefie & fafir= Jeadh Srarerslt it gt )

210 THCH CFEE 2010 F S (chart) % WHE (plot) &1 H
7 wafRiq &t w@ret i T S @

A. =TS Yiids B. S214T§Z (Data points)
C. &isie (Legend) B TISeTsT (Gridlines)

{225’ [f you want row/column to repeat on all pages% Ife mm@azmo ﬁmmm

during printing in MS Excel 2010, you can use:

Ut/ A. Page orientation

Page size

Print titles

o 0Ow

Scale to fit

/53  What is the shortcut key to insert a new slide in
a presentation?
A. Cul+M
C. Cul+]

B. Crl+D
D. Cul +N

w(/;
OTP is used as one of the additional security

features for safe online transactions, What is
the full form of OTP?

A. Only Time Period

B. One Time Period

C. One Time Password

D. Only Time Password

" TR / i SIECHT SITE €, A1 3T, 5l I
g

& 5
A. U 3TRU2IE (Page orientation)~_.
B. WW(Page size) *
C. fiie 2rgea™ (Print titles) ~

/{ & 'c:\ﬁh'é (Scale to fit)
/ﬁﬁbﬂﬁ@ﬂ%mmﬁ%%@sjﬁaﬁﬁﬁw
1

A. Ctrl + M
CretmE)

B. Ctrl +D

J)/Ctrl +N
1.8, gafere e Ted o forg sfafes gean
gfaensti § 9 v w9 § 3w o san 8, ot At
T U & T 87
A. 3fi=<t 2138 i@ (Only Time Period)
B. 3 2139 HifIE (One Time Period)

A_/(‘/ﬁ TT3H 9TEES (One Time Password)

D. 3fi=ft 2138 9Ea€ (Only Time Password)
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}Aoogle Drive, Microsoft One Drive and Drop
» Box are the example of: ‘

A.

B.
C.

D.

Operating System
Search Engine
Network Topology
Cloud Storage Services

‘/{ What is the main use of MS-Outlook 2010?

c 0w

It is used as drawing application.
It is used as calculating application.
It is used as email application.

It is used as web browsing application.

is the MS-Excel 2010 tool

/ that works backward from an objective to
cotnpute an unknown value. -

A.

B.
b

D.

Boolean Operator
Mail Merge

Goal Seek
Bookmark

Which of the following functionality is not

available with Page Layout group option in
MS-Word 2010?

A.

B.

Switch the page between portrait and
landscape layout using Orientation bpﬁon.
Move in the left/right side of the paragraph

by certain amount using Indent option.

%nsert the table using table option.

D.

Insert the ghosted text behind the content

of the page.

2577 T STEd, HISShIETH o gred 3 i St
09 T wEEwE
A. AT famen A
B. && &5 YA
C. I s 4/
}m@aaﬁﬁa

[, THTE-ATSTEH 2010 1 &1 ITIRT 77 37
S A.m%mﬁ%mg%mm%l
~ B. 3H& 3TN AN HA TTeA CellhIH & w9 F
fepa sfrerT 21 g
A g ST $e uftershyi 3 & i fpar st )
D. 381 3931 39 SRR ufteshee F &7 § fhan
Sic ¢ I 2
4 THUH-UFS 2010 761 5 forelt
ST HIH %l O F F 3290 | o1 w7 e 2)
A. o187 19 (Boolean Opgrator)
B. 3¢ &S (Mail Merge) ~
_CTIed ik (Goal Seek)
D. ﬂﬁ?ﬁnﬁn‘ (Bookmark) o

2 weE 7 2010 F {1 8 & i € e 7
ﬁm@Mt)wﬁwﬁyﬁwm
N \.

/@T‘*@W (Orientation) forded 1 ITMT ¢
- /7982 (portrait) Sﬁ{ﬁgﬁﬂ(!andscape) SEIECAE ]
Eﬁﬁﬁﬁﬂﬁﬁ?ﬁ_m| ~

B. 382 (Indent) forsheq %1 309 1% Fo ¢t 7
T 1 AT A @M/
A2 (table) fare 1 379 F2 ¢t <@l
P, 8w 3 93 s s e

29/ What is the use of animation pane in MS  3g THUE ITEEEZ 2010 § U (pane) F1
PowerPoint 2010? ' — Tk R R

A.
B.

.
D.

You can check the spelling and grammar.
You can view a list of animations applied
to a slide. 3

You can print the slide.

None of the above.

* IO T Y
2 A. 3T AT 3R TR it S g 2
B, w5E W AN UHAYE A uF g <@
=T wRd
C. 9 T1se fife o wehd B/
D. I H & g T
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13/ If you want to make graphical diagram like ~/,;yf g 319 THEE-TE 2010 ﬁmmgr mﬂﬁ@
graphical list, process diagram, Venn 39 (Venn) 3R, Waﬁgmﬁéﬁmﬁm

Diagrams, organization charts etc. in MS-Word mmﬁ% for m =
2010, then you can make easily using: Iﬂiﬁﬂﬁwm%
A. Smart Art graphics. W STI?.‘IITfEIﬁiT(Smart Art graphics)
B. Header and Footer " B. ¥ 3R FH (Header and Footer) >
C. Cross Reference. C. SE TH (Cross Reference) =%
Microsoft Draw. D. Hﬁm@ (Draw) <A
}/ Internet Explorer has been replaced by J{ 32@2 W Mlgmr«)ﬁ—ﬁ'eﬁﬂ 7
web browser in Windows 10. A SIS g Ifaeriua forar mar 2)
A. Windows Store A. ﬁ@'ﬂ@r (Store)
B. Microsoft Edge WWQGT (edge)
C. Google Chrome C. Tla‘nﬁq(Chmme)
D. Microsoft Chrome D. WISSRIETH M (Chrome)

MS-Word 2010 aligns each line of the (alignment ) fSrheq ST 31T ST AT (margins) F
paragraph between left and right margins, an aﬁaaﬁa IR OED ‘irﬁh‘ﬁiﬂ?ﬂiﬁ (aligns) FET 2,

2. ) Which of the following alignment option iy THUH-FE 2010 ® = & & I 61 AATsAHe

produces straight edges on both left and right YT =T 3T {3 1 ohdT
edges. b 2
_}/ Center B. Justify fet (Center) B. SRS (Justify)
C. Left D. Right C. 9% (Left) D. T2 (Right)
While sending an email, the recipient email ﬁ W ‘ﬁﬁlﬁa?élll:l HTHW@FTW o g
address can be inserted in WW%I ¥
A TOBEEEY. A ¥ g (To) S 7 €1
. o B‘(’:" g B A Z (To) S (Cc) s 3
i ;0- B"Cfal‘:d 4 - R 7 (To), et (Beo) AR H(Co) |
s one of the above. Dmﬁaﬁﬁ‘:ﬁqﬁl
34, ~ In which network strategy all nodes act as y fore Seas: wrifa § 9ft 1S Ferse it et F A
/;/" clients and servers. F19 ¢ T4 T € |
° A. Terminal A. 29 (Terminal)
B. client server B. ¥&T$2 §aX (client server) =
C. peer to peer _ Lot T IR (peer to peer)
D. scheduling ‘ D. ﬁ?ﬂfﬁ"{ (scheduling) ..
; is a combination of bus [y Y TGS S TR AT 1
topology and star topology. Wﬂ'ﬂ'-f%l '
A. Ring topology Aﬁng)@‘ﬁ?lﬁﬁ
B. Mesh topology B. 3 (Mesh) Adiefte
E' ?exagc’“? topology C. TS (Hexagonal) 2raatsit
e togplony. B (Tiee) el
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Four alternative answers are mentioned for
each question as (A), (B), (C) & (D) in the
Booklet. The Candidate has to choose the
most appropriate answer and mark the
same in the OMR Answer-Sheet as per
the direction :

For Example :

Question :

1. ® @ © )

2. ® @ L ] @

Illegible answers with cutting and over-
writing will be cancelled.

In case the Candidate does not fill the
appropriates circle in the Answer-Sheet
and leaves blank ‘Zero’ mark will be
given.

The candidate has to mark carefully as per
direction the answers on the OMR
Answer-Sheet with black or blue ball
point pen only.

Strict directions are hereby given to you to
refrain from correction of your earlier
marked answer in OMR by rubbing or
scratching or using white fluid. In case of
violation of this instruction, your result
may not be processed or you may be
declared disqualified in the exam.

The examinee shall hand over OMR

Answer-Sheet to the invigilator and can
take carbon copy of the OMR Answer-
Sheet and question booklet with himself.

Write your Roll Number and other
required details in the space provided on
the title page of the booklet and on the
OMR Answer-Sheet with ink pen or ball
pen. Do not use lead pencil.

To bring and use of log-book, calculator,
pager & cellular phone in examination hall
is prohibited.

All the questions are bilingual. Incase of
any discrepancy the question in English
shall be treated as correct.

TE-gRABT § TG U B AR ARIfad
I £ (A), (B), (C) 3R (D) | ufemff 39
IRl el § ¥ U 98 SR BT 99T e
39 OMR m=r-¥e # fadoar fafeq
FN| ST P IR-AMe ¥ w=Ed geq
T # 4 geR wRer @
ge7EvTref -

7o -

1. ® ® O©
2. ® ® @
Jufed IR T W SR 12 Frer a1 gear

T & AR ox Ry o

I el sR—die # Swge T @
T8l Wa1 2 3R I=R-—die @ @ v
<dl &, a1 I 3@ ue fhar e

efl @1 gl & Itk OMR a=R-e
W dad He g A dfd Wige 9o
fréeER &ifha e 8|

sl wE= g Ry 9 € % emm OMR
# 9@ § Ry T SR @I 9o o forw
e 1 FTed U1 9Be 7 FT SUANT A
31| e g9 fider Y sEga @ o @
a1 3uHT YRUMH AT ST FHar & a7 9B
e # g gifd fhar o dedr 2 |
Tl # At wu ¥ e 799 B
¥ 7@ OMR sr=e—¥ie Frlles @ o o
FeE 8 @or OMR sR—-3e @ s+
AR T FE-gRa®T IO WRT o O 6
gl

TE-gRaeT @ guys W o OMR)
FR-Me W FuiRa w4 srgwaie o
3 fdaRo % U9 a7 §fd @iEe W ¥ &
W | AT BT w9 BN

e Hel H ANT-gd, dogeley, UuR T
ASGeR B o A1 AT IHHT SYIRT FIAT
affa 21

o g fgwiie 1 afe el wea—gRaeT
# U qen & argare # @ frar U
ST ® T U SgaTe € A BT |

©0
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VARDHMAN MAHAVEER OPEN UNIVERSITY, KOTA
Rawatbhata Road, Kota -324021

Answer key of RSCIT Exam held on 30-09-2018 Dated: - 30-09-2018

S.No. _ SET-A | SET-B SET-C SET-D
1 D B [ B
2 D D C A
3 | B A B C
: S < Db A D
5 | D b | T¢cC B
6 A D | T C
7 N B C D B
8§ A A D A
9 C | B B D
) 0 D A A A
1 D B A D
12 B C D B
13 | C A D C
14 - ; C C 3
15 A ' B C A
16 B D D D
17 - B A A B
18 & A C %
19 D D A A
20 B A C D
21 A D A A
22 C - B C
23 A 1 A C C
24 D | C D A
- 25 A D B A
26 A g D D
27 B C A D
28 A C C C
29 D B D D
30 A A B D
31 C B A C
32 D | B B C
33 B c B B
34 ¢ 4 C A A
35 | c | D D B

S N ) % = o e h 5 5
Grievance related o above key will be entertained till 04™ October, 2018 received by email only.
Kindly send all the grievances on below mentioned e-mail address only.

Email Address:- rscitexam@vmou.ac.in

Controller of Examinations



